The next two questions pertain to the situation described below.

A current carrying loop of radius r ~ /4 ¢m is oriented horizontally. with its area parallel to the x-z-
plane in the figure below. and a uniform magnetic field is applied that has no z-component. The x-
component of the B field is 3 7and its y-component is 4 7. The current / - 7 A is flowing into the (-7)
direction at the rightmost point of the loop. as denoted n the figure that shows a side view of the loop
(The (~2)-direction points into the page).

18) What 1s the magnitude of the torque on the current loop” ?’
a1t - l7Nm ’E/ TA'% ‘j ’(
bt - 2500Nm - - g]V\ S
T -22Nm (-
@ 13Nm 2.
et ISOONM q, A T (d-lq b\)

19) In which direction will the loop start 1o turn if left free?
QClockmse about an axis parallel to the z-axis
. Counter-clochwise about an axis parallel to the z-axis

c. Around an axis that is nof parallel to the 2 axis.

Page Yol 13

20) Four long straight wires carrying currents of equal magnitude (/; - 7> - I3 - I, - 1) are parallel or

antiparallel to each other such that their cross sections form the comers of a square. as shown in the
figures. The figures indicate the directions of the current in each wire. In which case 1s the magnitude of
the total magnetic field at the center of the square (O) the largest?

O

7
Oy

4
A\

Page 100f 13
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21) A charged particle travels counterclockwise with speed v on

acircle in the plane of the page. while a uniform magnetic
field 8 is applied in a perpendicular direction. pointing into the
page (as shown below). The period 7'is the amount of time the
particle takes to travel around one complete circle. How would
the period change 1if the speed of the particle was doubled?

B is pointing into the page

would remain unchanged.

would increase by a factor of 2.
d. 7'would decrease by a factor of 2.
e. Twould decrease by a factor of 4.

C}Z’\\‘ould increase by a factor of 4. PU\ - lﬁ

22) Three long. parallel straight wires A, B and C carrya constant current of / -~ 3 A each. The direction
of the current of each wire is as indicated in the figure below. The length of the Wiresis . = / m and
the diameter is D ~ 8 mm. Wires A and B are stuck to each other but electrically insulated from each

other. We call the combination of wires A and B a “double wire AB™. The distance from the center of C
to the centerof Aisr = 2em.

What is the net force on the double wire AB due to wire C?
a Ko Lsx 10N '
b F-ON
c F-26%x10°N

§A’s /"_ F d\’ g Page Il of 13

L fre Be

@he magnetic field points into the page.
The magnetic field points out of the page

23) A particle of charge -|¢| moves in the posilive x-direction with speed v. There is a uniform electric

field E ol magnitude |~ pointing in the positive y-direction and a uniform magnetic field B pointing
in the pegative c-direction. What must be the magnitude of the magnetic {ield. |£]. such that the particle
does not accelerate” (Hint: Pay careful attention to the given direction of E and B).

-lgl %
Ve
F'4
F'4
by
¥
B
t
a 1B = 1]

The charge will accelerate for any magnetic field B pointing in the negative #-direction. D

< B=lay 2
1¢ 90 SAnE DIRgCNON ao

24 A négatively charged particle enters a uniform magnetic field from the south N
and is pushed to the east

In which direction does the magnetic field point”?

T

€

-

© gl

Page 120l 13
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The next twa questions pertain to the situation described below.

A negatively charged particle with charge ¢~ -3¢ enters a
uniform magnetic field 8 - 0.3 I’ pointing out of the page

with a speed of v = /0% m s and sweeps out a half circle of B @
radius r - 5.9 cm before leaving the field

Physics 102 Hour Exam 2 - 5P15

25) What is the particle’s mass? - 3 v l. 6 )() D

HEOENOY S WN e
NepoO© T T T T

\
|

a. More information is required to detemune the mass of the particle. o 3
m 28 x 10 ky — — Q B T \ 14.
sx 107 Z MU~ m = 1s.
m -85 % 107 kg A ) 1
d m-85x% 1 kg B Vd 17.
em 28x 10 kg % lo M 18.
13

&
U«ijqm j 20.

26) What 1s the speed v of the particle upon exiting the region with the B [

1P ms 24.
107 ms 25.

a v
b. v
cv-10'ms 26
Qv-oms Same g¢

v 105ms

-
@
MOAPPOOEIPOTPOPOPNANIEIANIEN®ED

Page 13 0f 13



Physics 102, Lxgm 2 Fall 2011 Physies 102, Lxam 2 Fall 2011

X

1. The picturc above shows a top-down view of a solenoid. The current [ n the solenoid flows 3. Supposc a smaller diameter solenoid is placed inside a larger diameter solenoid. as shown in

clockwisc. Which way docs the magnetic ficld point at the center of the solenoid” the top-down view above. The first hgg current 1) and tums per ugil ccond has
current [= and turns per unit length nf Bot at is the

nto the page magnitude of the magnetic ficld at the'cenler of the solenot
. Out of the page

c. Along the +y dircction B=()

d. Along the -y dircction : ( b) B=puflyn+zn3|

c. Along the +x dircction

. B=p|liny-Lnz}
d. B=pu|lina+ln,
¢. B=pllin>-Lony|

4. If vou have a solenoid 13m long that consists of 169 tumns. what current must you put through
1t to produce a 50uT magneuc ficld at the center?

a. 0.2A T ,\)

b.3.1A -

¢ 39.8A },{o £ n ’r'/r(d U -)urn;
4.235A —_—
¢. 3060A

AW,
S A

26 problems 26 problems



Physies 102, Exam 2 Fall 2011

The next twa questions refer to the following situation:

As shown in the picture below. two long. straight wires arc scparated by 2m. The point P lies at
the midpoint of the line connccting the two wires.

A
_____ @ Po, <

5. If the current through wire A is | A and no current flows through wirc B. what is the
e e sreags

magnitude of the magnetic ficld at point P?
T 1 A

a 1x 17T

b.2x107T g //{
c 4107 T

d314<107T

c 0318« 107 T

\ ™
6. What is the dircction of the magnetic ficld at pomt Pif 1A flows through wire B into the
page?

a. Into the page
ut of the page
dircction

c. The magnetic licld would be zero

5 of 16 pages
26 problems

Physies 102 Iixam 2 Fall 2014

The next two questions pertain to the same situation.

10. A squarc loop (connccted to a batiery not shown in the picture) has a current I flowing in the
loop as indicated below and fies in the x-y planc. The loop is in an cxtemal uniform magnctic
ficld B which potnts in the x dlrccuon The left side of the loop is labeled s. In which direction
daes the loop rotate?

¢, .3

ide s rotates out of the page
- side s rotates into the page
c. the loop does not rotate

11. The current n the loop 1s I = 2.2 A. the side 1s 10 cm. the magneuc field B =2 T and the
number of tums in the loop N = 3. What is the magnitude of the torque on the Ienp"

2.1=0023 N-m

=NTAR g n%—

m) l T Ed \ Bol 16 pages

26 problems



Physigs 102, Exam 2 Fall 2011

The next two questions pertain to the following situation:

The picture below shows three wires oriented vertically, cach spaced a distance d = 10 cm apant.
Wire A has current [, =3 A pointing oul of the page (+z direction) and Wire B has curvent Iy =3
A pointing into of the page (-z dircction). Wirc C has unknown current and dircction. Each wire
is 10 m long.

-~
—

12, If we want current B to have a net force of zcro on it, then in what dircction should current C
int?
out of the page

nto the page
no current is necessary

o

13. Assume the direction and magnitude of the current in wire C is such that the net force on
wire B s zero. In which direction could an external magnetic ficld B.y, be applicd so that there
continucs to be no nct force on wire B?

a +x
b s

@v

9 of 16 pages
26 problems

Phy sies 102, Exam 2 Fall 2011

The next twe questions pertain to the following situation:

A charge with m= | kg and Q= +1.0 C eaters into a parallel plate capacitor with E=100.0 V/m.
An external magnetic ficld with magnitude of 2.0 T 1s applicd in some direction. Ignore the
force of gravity.

| y
B=2.0T
Q@— E

15. Which dircction should the magnctic ficld point to makc it possible for the particlc to travel
in a straight line?

Qulo the page
. Out of the page

¢+
d -y
c.+x

16. What s the initial speed of this charge 1f it travels in a straight linc?

Chinme v =7 E
S locV/
L2

-
= E
AS

11 of 16 pages
26 problems
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Physies 102, Exam 2 Fall 2011 Phy sies 102, Exom 2 Fall 2011

The next question pertains to the following situation: KEY
Fall 2011 - Exam 2
A charged particle with charge Q= 1C is travelling at v = | m/s in the +x dircction toward a

squarc with sidc length 5m containing magnetic ficld B= 3 Tesla, dirccted into the page. The L a
particle enters the ficld at y=2 meters above the bottom of the square. There is no magnetic ficld 2b
anywherc outside the square. 3b
4 b
3b
G 6 c
7 a
%. 8 b
, XR X X XX i
m ¥ E
X X X X X N
12 a
aQ X X X X X 5m 13 e
v 4 d
O—> X X X X 15
16 b
X X X X 74
2m . 18 ¢
. y 19 d
D 20 ¢
2l
5m 20
234d
24 b
17. The particle trascls in a pl i-circle. Given thed of the magneue field. this 3 b
means that the particle exits at cither point C or D. which you must determinc. What is the mass 26 d
of the particle? .
-
2.03kg - m U_ ot B
bl ( — 4) m r \
3 kg -—
i B 2
T 715k 'U/
\ )/
12 of 16 pages 17 of 16 pages

26 problems 26 problems



Physics 102 Exam 2 Spring 2012

The next two questions pertain to the following situation:
Two long straight wires arc placed parallel to one another 9 em apart, as shown in the figurc. The

current in wire 1 1s oriented out of the page. and the current in wire 2 is oriented into the page. A
point P is located 6 em to the right of wire 2

9cm 6cm

Iy—b
® T ® o b
18, Calculate the net magnetic figld in the v f’scclion at

I1=2A I2=8A
oint P. \ l (
et A =|® 6*3 816
i3

Boq =+6.72x 107 T g

| Ba=-334x10°T —L—
(:EFM--zmnln T 15 ” té”
W r\

Q\fi 0- \5 - $;‘O.C%)VV\

19. The net magnetic ficld duc to the two wircs cquals zero at a pomt in the region between the
two wires.

/'/1

a Truc
lse

12 0f I3 pages
26 problems

Bup=49T
<:§ Bup=I8.5T
c.

Phy sigs 1020 Fsam 2 Spring 2042

The next three 4 pertain to the following sit

A particle of mass 5 x 10" kg and speed v, = 3000 m/s enters a region with magnetic ficld Buuom.
which is perpendicular to the planc of the paper. The magnitude of Buom 15 not known. The
particle follows a quarter-circle trajectory and enters another region with a different magnetic
ficld Byop. which is also perpendicular to the planc of the paper. It again follows a quarter-circle
trajectory. The magnitude of Buyp is also not known. The radius of cun ature for the motion n
the top region is larger than that in the bottom region (fup > Thonom).

Biop
Jbattom
~
-
vi
—_—
Briottom

20. Gnen that the particle has charge q = +6 pC. in which dircction does By, point?

a. inlo the page
*out of the page

21. Which is true regarding the relationship between By and Byogm?
hop < Bhuttom

. Biop = Boowom
€. Biop > Broutom

22. Calculate By if rinp is 1.35 meters.

remh o

13 of 15 pages
26 problems
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Phvsigs 102, Exam 1 Spring 2012 Physies 102, Fxom 2 Spring 2012

The next two 4 ions pertain to the following situation: The next two questions pertain to the following situation:
A square loop with sides of unknown length L is cammying a current 1 =3 A. The loop 1s oriented A positively charged particle moving with speed v = 250 m/s caters a region of magnetic ficld of
in space at a 35" angle with respect to the horizontal. The current flows into the page at the top magnitude B =300 T oricnted out of the page. as shown in the figure. The magnetic foree on the
of the loop and out of the page at the bottom of the loop. as shown in the picture below A particle is measured to be 13%10°° N.
magnetic ficld of magnitude B = 2.8 mT is applied in an unknown dircction
v . . . . .
v B=300T
z._b“ . . . L] .
. . . .
v =250 mis -
— l N
—g— et S r\o
L] - L] . . ¢
23, In which direction could the magnetic ficld be oriented for the torque duc to the magnenc
ficld 1o cnuse':hc loop to rotate in the counter<clockwise (CCW) direction as viewed wn the 25. Caleulate the charge Q of the particle.
picture abore . _,,
.
e Q=1x10C F:’ U’g "!.) -
tr . b x 10 ¢

 +2 T Q=3x10"C U’S
dQ=4x10C & -
c.Q=5x10"C T Bod \
om

26. An clectric ficld is now applicd in the same region as the magnetic field. [n which dircction
must the electric ficld be oriented so that the charge travels a straight-line trajectory through the
region of the two ficlds” -

a. L=0381m el
b L=0.192m (_/ z f A g gjn z ) @p
c. L=0.633m . down

L=0.085m c. into the page

=0.037m . I e —5 @, d,qu::)l‘lhc page
¢. ngh
1 >3+ L 1o :

24. Presume the magnetic ficld s now directed downward. in the -y dircction. The torque on
the loop 1s measured to be 1= 64 x 10°° N m. Calculate the length L of the sides of the squarc.

b
(———"’—’ L ’Ll * O wi Check to make sure you bubbled in all your answers.

Did you bubble in your name, exam version and network-1D?

z _L—f/""

i’ g g\) y\ 8’ 14 0f'15 pages 15 0f 15 pages

‘R 26 problems 26 problems
AT 4

h
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Phvsies 102,

Spring 2012

KE

e

20

26.

o= eoEeo

5y
Spring 2012 - Exam 2

o

6 oe TB 086

EoT6Boe TT6E

16 of 13 pages
26 problems

Physics 102, Exam2 Fall 2012

8 A 10 m long carbon nanotube wih a mass of 2<10" kg s used as a wre. As shown. the
nanotube carrics 10 A of current to the rght. 1f the Earth’s magnetic ficld is 3x10°* T and
pomis ‘into the page. what i the acceleration of the nanotube”?

-9
a 98 mis? 1=107" A _
25 nus* _— B=5x1075T
T 54107 is® ®
d 0.04 ms?
¢ 2.5% 107" qs® —>
1075m

F:’ iLB S‘H\%'
L——

8§ -

P

2 ) <
12
az t f\.LBl‘/‘g1~

m F\G—\ly\glc
-5
lo/ql“r lo m

6 of 14 pages
27 problems



Phvsics 102, Exam 2 Fall 2012

19. A long straght wire cames current, /i, It produces a magnetic ficld. B;. at a dstance. o).
from the wire. Now, both the current and the distance are doubled
Compare the new magnetic ficld, B, to the origial field, B;

a. By<hB

A 12=21,
4] !
4 d=2d;
¥ B, :
1B,

100f 14 pages

/)__/\/\ r' ¥ 2 27 problems

Pnsics 102, Exam 2

Fall 2012

20. Two wres camy current perpendicular to the page The magmtudes of e two currents
arc equal but onc s into and onc s out of the page. as shown. Where on the lne & the

magnetic ficd cro?

Point C
0
a. Somewhere region A Region A Region  Region Du RegionE
b. Somewhere m regon B B
c. At point C

d. Somewhere m region D
< magnetic ficld & not ro amwhere on the Ime.

Becavsa Luprpdly e M
-

2[. The coil of an MRI soknoid is 8§ cm long and ¢ y
has 2 0.025 m radws. There are 500 tums % it EAAAAA
of wire. How muich current is necded to U JUHY i

producc a3 Tmagnetic ficld inside the
sokenoid? (Note' This device images mice. not humans')

a l=60x107"" A
b./=382A

e I=4714A —_ T
d.I=191x10° A - }A A4
0

c /=149x10" A

T-.%L 1
Mo Hu m 0-08w




Plnsics 102, Exam2 Fall 2012 Plusics 102, Exam 2 Fall 2012

The next two questions pertain to this situation:

A charged dust particke (m = 24, A negatnely charged partcle. -¢.s movmng m the
3x 107 ke g =+ 6x 1071°C)is +zdrecton m aregon that contamns a uniform
) e ) ) Dust magnete ficld along the -x direction.  In what

accclc.m(cd from rost by m,l T T7T Par-"deu ™TT-T 1000V drection must an ckeetrie field pomt so that there
cloctric ficd through 2 107V ELi i pogt s 1o net force on the partick?
potential difference.  The LLyy) l MV
magnetic ficld s zcro i the H ov a. Along +x
ckctric ficld region. It then B ® j b Along -x
enlers aregion that contams a } E=0 Alo“g +\‘
unform 1.5 T magnetic fickd c Ah“": 3
that pomnis mto the page. £ =10
n the magnelic field regon. Left  Straight  Right
22 Wheh of the three paths shown m the figure does the dust particle foflow? .
Flectron
a Lefl 25 An clectron (mass m =9 11x107" kg, and charge e hee
b. Straight 4=-1.60x10"" C) s mitwally at pomt #; with speed
jght vi=3.1x10" s, It s moving m a uniform magnetic

ficld of strength B =10.15T. How fast (v»)s the
clectron movmg when #t reaches pomt /3. which
5 ch=2.5<107 malong Band o= 15x10"m

perpendicular to B with respect to Py
23. What & the radius of cunature of the partck’s motion m the l'g'ﬂ”ll: Tld region” va= 1 Ix10* nvs FlectYon
R=0022 110 ¢ CS) 3.0x10* mis startshere
CH o129m 5.1x10° s
—153m f d va=6T7x10" nvs
d‘ R= 1'5 Im ( ¢ The clectron docs not have cnough encrgy to reach pomt 5.
¢ R=1096m

R SAME a5 belyry

1/,. \/ 12 0f 14 pages 13 of 14 pages
M \f 27 probkeins 27 problems
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Plnsics 102, Exam2 Fall 2012 Plysics 102, Exam2 Fall 2012

The next two questions pertain to this situation. 4 KEY
Exam 2 - Fall 2012
A squarc loop with sdes. L =0.1 m. lics m the
x-zplanc and cames cleetric current. /=3.7 A, ) B lLc
in the dircction shown. The magnetic ficld. N 2a
B=022T, bes m the x-y plane, rotated away 1 < 3b
from the +v direction by an angle 0. as ‘//- L 'f A
shown. P 7 X ;' ;
B < : 6
e b ¢
‘ | 8.b
H 9.d
v c
26. What vahi of ¢ would make the torque on the loop equal to zzro? 1L b
12.a
13 c
< H b
do=-on 15 b
c. The torque is never equal to ro, o -1’7/ 'g ;
I
/ 18 ¢
27. For #=37° how much torque. r. s cxerted on the bop? 19.b
2. ¢
at= 490x107 Nm A. B C ) ' ’ 2 b
b.r= 6350107 Nm i f\ 2.¢
cr= 8.14x107 Nm 2. b
d.or= 223x107 Nm [y Hoc
cr= 8.14x107 Nm } 2. b
26 a
7—. 27 a
PRGN
14 of 14 pages . 150f 14 pages

27 problems 27 problems



Physics 102 Exam 2 Spring 2013

The next three questions pertain to the following situation:

A beam of particles is sent through a velocity selector in order to 1solate charges of a
particular spced to enter into a mass spectrometér (sec befow). In the region of the
velocity selector, the electnie field £ = 2500 N/C upward and the magnetic ficld B) is of
unknown magnitude out of the page. The speed of the sclected charged particles is
v=22x 10* m/s. Ignorc any cffects duc to gravity
~
r 0.0

®©|®® "D, ]

He)

charged } @ @ @ v _'_,@//‘ @
paticle source @ @

®|®®
;@‘@ ®s, © 2

velocity selector mass spectrometer

N

1. The velocity sclector is sct up to select positive charges only

T
( h.; F

2. What is the magnitude of the magnctic ficld B in the region of the velocity selector”? '\)/

B bty
iy VR ELE T

d. By=384 T

c. Br=166 T % -
. @) U

3. The selccted charged particles arc then sent nto a mass spectrometer to identify the
composition of the stream from the source The magnelic ficld B2 = 5.5 uT in this region
is oriented such that the charged particles deflect in semicircles as shown. For a certain
particle in the beam. the mass is measured to be m = 1.56 x 10°* kg for following a path
of radius r = 7.5 mm. What is the charge ¢ of the particle?

i =eeta = MU

=83nC

).368 nC ﬁ
e ¢=250nC

7)% - —'m/__Lr L (26 probioms)
B -
/r ﬁ%;gﬂo \

%
11410 "

W) (;& Wl/j

Physics 102 Exam 2 Spring 2013

7. A proton is moying toward a bar magnet. What is
on the proton if 1t travels in the +y direction at the_pojxge
pownt © is directly below the center gl the-br

a. left
b. nght
. into the page
oul of the page
¢ There is no magnetic force on the proton

5 of 5 pages
(26 problems)



Phisics 102 Exam 2 Spring 2043

The next three questions pertain to the following situation:
Three infinitcly long current-camm ing wires arc placed in a horizontal line. with a

distance « between cach. The magnitudes of the currents in each of the wires are {; = /+ =
13=1. Point P is located a distance « dircctly under wire 2

14 I

f I, I,
box O ®®

y

P

10. What is the general dircction of the net magnetic ficld at point P duc to the three
wires?

) RN B

I1. What is the y-component of the mngnctlc figld at poml P

3o T
(o 33 %3‘7 %

d 8, b% ’B - % A‘_
- ‘a ) B

12. What is the magmitude of the net forcc on a ')f:\g )‘lucr two
wires?

o gofoz,s D

o Fom =2t F =Gz Mo
‘ -3 70!'7;:!:133ﬂ d
(26 prabl 3

Physics 102 Exam 2 Spring 2013
The next two g ins pertain to the following

A single wire loop 1s placed in a uniform magnetic ficld as shown in the dm!,mm The
loop has radius R = 15 cm. Thc current m the loop is measurcd to be /=3.33 A in the
lochwise d as indicated in the figure. The net torque this loop

cxperiences is measured to be T =35.25 x 10 * Nem.

Ny’
,B,/\

13. What is the magnitude of the magncuc ficld?

ppcren 148 5n g 7 om
Shm e SO
¢. B=56mT ‘% _ =

14, Which picturc below shows the direction of rotation ;&In&‘imﬁlhc loop is

allowed 1o rotate freely”
—
R
===
N’ B
_—

a.
TR, 3N
] ] [
" B N’ B N’ B
J " |
8 of 8 pages

(26 problems)



Physics 102 Exam 2 Spring 2013 PHYS 102 Exams Hour Exam 2 (A)

KEY The next three questions pertain (o Ghe situadion deseribed below.

N - 0 . -
Exam 2 - Spring 2013 A negatnely -charged particle. moving at a speed v =163 m/s. 3

Lb cnters a region of width « = (.87 m that contains a uniform
2 b magnetic ficld of magnutude 8= 1.7 T pomting out of the page.
3¢ as shown in the figure. The mass and the magnitude of the
4+ b charge of the particle arc unknown
5. be
6. a
7.d
8. b
?i) ba 1) In which direction will the particle be deficcted?  Show how apply RHR (fingers pointin etc) 75%
Il ¢ Fingers in direction of v (rignt/positive x)
12, a Up Paim in direction of B (out of page + z)
13.b " Down Thumb = direction of force on positive charge (down/-y)
(R Negative charge so force is opposite (up)
15. 2
16, ¢ 2) What is the minimum mass-to-charge ratio (m ¢ ) such that the particle can traverse the whole shaded
17. ¢ region and exit through the right? show work starting w/ F=ma, and solve
18.a
F=ma

¢
;d : a. m g =0.0064 hg/C QvBsin(90) = mvA2 /¢
S b m g =0.0112kg/C mikq=Brlv
22‘ . c. mg=0.00427 kg/C =(17)(087)/(165)
23' . d.n ¢ = 0.00345 kg/C = 8.96e-3
24 b S 41 ¢ =0.00896 kg/C
25 a
26. a

3) Now an clectric ficld of magnitude £ = 78 N/C is added (o the shaded region. What should the speed off
the particle be such that it travels in a straight linc across the shaded region?

Show work starting w/ F=ma
a v=399m/s F=ma
@ 1.22m/s qvB sin(90) - qE =0
cfv=439m/s v=E8
L v=T76.6m/s =78/17
c. v=413m/s =459

15 of I3 pages
{26 problems)



The next two questions pertaigfto the situation described below.

A

Front view

Top view

A rectangular loop of arca 4 = 00245 m? and carrying a current /= 3.9 A is exposcd to a uniform magnclic
ficld of magmitude 8 =4 6 T, as shown in the figure.

4) What 1s the magmitudc of the torque c\cncd on lhc loop? Snow work starting w/ expression for torque

D= To~\8 - 12°
.= 1 AB GO

5) As seen from the front. in which direction will the loop rotate?  Either show forces on diagram (front view) or

explain using dipole moment.
Qloek\\ is¢

b. Counterclockwise

a 0.136 Nm
b 01353 Nm
c. 0418 Nm

x% a)( 0(\\8\‘/\

The next two questions pertain to the situation deseribed below,

Three long. straight wires. cach camying a current /= 4.8 A, are arranged as shown in the figure. withd = 2

. s €ausg g AB% oF 0“6‘1(\
y 48, o 0™

d

6) What is the magnitude of the total magnetic ficld at the origin, B, , . due lo the three wires?

Draw B from each wire, then show calc of x and mponents

be sure to show angle, and comhme 1o get El 2. g 2'
a. B, =107 10°T B ¥ z J %" Y
b B =207 10°T - Y 3 ‘>’~
1ol
-0
c B, =192x10°T

d BM",-ISGK 06T = Po 3. - 1 -[ﬂoi

7) What is the x component of the net force on onc meter of the top wirc duc to the other two wires?

Draw forces from lower currents, then caiculate magnlluoe using
expression for force between two wires, then calculate

=23x<10°N x component, Be sure to label angles .

Q7 B £ [

=0N

N

N PEY

gw}fr i Yo P\ o6
X =



The next three questions pertain to the situation described below.

Mass spectrometers often contain a device called a veloeity selector. which consists of a chamber with

Physics 102 Exam 2 - perpendicular £ and B ficlds. The magnuudes of the ficlds arc such that only particles with specd

Spring 2014 v = 1 x 10°ms travel along a strarght linc trajectory  through the opening at the far end of the chamber
1 a
2. e
3 ¢
4 c 4
5 a
6 e o —>
7. ¢
8. d
9 a
10.b
1l.c
12.b
13.b
14.a - ~
15.b 7) Given the E ficld pointing up. which dircction of the & ficld would give the observed trajectory b? You
16.a may assumec that the paricle charge () s positive.
17.¢
18.b ot of the page
19.¢c b. to the right
20.b c. t the left
21.a d. into the page
2.b c. the B field is zero
23.a
24.d N . N
25.a 8) Docs your answer to the previous problem change if the charge ¢ is negative?
o
b. Yes

9) As shown in the figure. two other particles travel along the dotted trajectonics @ and ¢. Which of the
following statements must be truc” Again assume (2 is positive.

av, >y >
N =V =
<1 <

A

40f 10



The next three questions pertain to the situation described below.

w

—

A - T
T

/ b L

o 8 .
Front view Top view

A rectangular loop of length L = 0.445 m and width ¥ - 0.285 m cames acurrent / - 394 is cxposed to a
uniform magnetic ficld of magnitude B = 5.5 T. as shown i the figure.

18) What is the magnitude of the force experienced on wire scgment AB?

o won F 2 TLB 0B

i ke
e Fig SN g q/’ 09‘*,5-»\ S‘ 5‘ T

Ilj) What is thc magnitude of the torque excrted on the loop”
el
Oz.sa Nm T; z _L A B 91‘\%—& e
b. 1.06 Nm T mo
LWz 0.945

c. 0.93 Nm
20) As seen from the front, in which dircction will the loop rotatc? o ! 95

‘Counterclockwise
b. Clockwisc

8of 10
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The next two questions pertain to the situation described below.

Consider a beam of identical particles with the same charge  and mass m tray clling along the dotted
trajectories-as they enter a region containing a uniform B ficld pomnting into the page.

g,
i
E
.
&
- 4
o <—~—'8’ /

e D
o e

10) Whatis the sign of the charge of the particles?

egatve
b. the sign cannot be determined
C. positive

11) Particles moving along which trajectory have the larg 2

trajectory ¢ . M \r

b. tragectory a

c. trajectory b

5ol 10

The next three questions pert;

i to the situation described befow.

Constder the followmg circuit: By = /0 Q. Ry =8Q Ry =3Q ¢ =17 Vandey =8V Imuially the switch
1s open

12) You connect a voltmeter at points A and A in the circuit. What is the clectric potential difference.
Vg = V- Vp. measured between those points? T

l
b 4 €= TR -1 nggp o
C AV =9 = _\__a RE\’ 'aO.SA )

13) Notwthe smtch is closed. Using the same yolimeler as al*l 7y measure the clectric potential
difTerenc p = Vi=Vy =333 V. Inwhich on docs the current flow through resistor R3?

. no current flows
up
down

oo

14) Wat 1s the current /) through

Tstor Ry afler the swiich 1s ¢losed?

I =084
1 —/ 7

o

6of 10



The next three questions pertain to the situation deseribed below. Physics 102 Exam 2 Fall 2014

Three long. straight wires. arc

arranged as shown in the figurc 3 ¥ E’xazl 2~ Fall 2014
a~335m.b - 2mand0=30° Each
wire carmies acurrent /=8 8 A Ib
P 2.d
/" ] 3 N\\\\ 3 a
1 b o~ 2 4c
7 . 3
& ¥ 8] 8/ ™Sy % £s
bd g V'V oa 7 i
3_ s 8 a
g
21) Which sector best rep the d ion of the total ic ficld at the origin due to the three wires? f(’cﬂ
11 a
/1N i
e B — 13. ¢
faraA  bpwed  bgeel FigureD  bguret
4 c
15 b
16. ¢
17 a
c 18 c
g 9.
d. Fagure I ;() :
e ligure A 2. a
2. ¢
22) What is the magnitude of the total magnetic ficld at the origin, By . duc to the three wires? 2. g
a

7. u
. Buonad =976 107 T B\}s' 8\ + B)__ - 13' k= 1}Ad 25,
b B =124 100 T , M a

ot = 134 < 106 T 7 l:t. "'l/,

ot =175 % 107 o 1,. = - t/—~* [ 1

:Z,,m.;= :;‘)‘ :::"I BX = 33 = /%.g 2 B -~ B]. \'Bb M)L &w b
7 .

23) What is the dircction of the nct force on onc meter of Wire 3 duc to the other two wires? ? 8 - )‘éﬂ;" j.. * —\I'
2L z
a. ~x-direction ;
b0
c

" [
~v-direction 2

d. -y-direction g
O-dirm:[ion %

1 of 1 pages
90of 10 (25 problems)



Physies 132, Fsam 2

Fall 2011

The foltowing 3 questions refer to the following situativn,

7. A conducting ring sits in an external magnetic field. Initally the magnetic field is zere, The

field s varied with time accordimg 1o the graph with a pesitive B3 field pointing into the page.

1T’ bt
X X X. X X ) E‘J S‘*“o,e
X X B bt o ’ / L0 UQ\’“] P
=7
B : SN\G-Q.Q |
x x I I WL i
X X X X 2 4 § 8 110 t ( sec)
11
Which graph below best eepresents the ENE induced in the loop sersus time?
1 oA
(% & o
| 1 1 - > i >
| NG t [

g oot

g\\w | '{;',L(-Eﬂtfl\’a‘

Ao Lo C;P} X-tﬁ{‘
<\ GU‘/

6ol 16 pages
20 probleins



Physivs 102,

Lxam 2

Fall 2011

The following 2 questions continge from the previous page.

L]
T

A\

g
» e
.i
-

8. Relate the magnitade of the current in the leop at t=2 sceonds we the magnitude ot the currend
in the loop at =9 scconds

)

Aol 2 sec ) Y sec P
B2 see )< {9see)
el 2 see ) =109 see)

=

b

M\ic\r\ \Qraz G‘* G(S

I'he current generated at =2 seconds and =9 seconds are

a. in the siune direction
@ i opposite dircetions

no current is generated at those times

1; w}:’*’i';__'}- J 15
dﬂ:((éwfj\'a (‘\.t‘ q‘s

7ot 16 pages
26 problens



Pl sies 102 Lxam 2 Fall 201 §

M. A step-up transtormer 15 used to supply adequate voltage to a neon sign,

=]
Tl

LT

o,

NEON
SIGN

120 V

SRS

)

Phe transtormer is designed to bave an output voltage of 1200V when the primary is connected
o a 1200V source. THow many turns must the secondary winding have il the number ol primar

s s 307

a 10 turns - __J
b. 30 wirns \/ e
)
¢ HOO turns 'f’
300 s

¢, HOOO turns _ NS - ‘\EF \IS _ g@ _ '—‘3,,(2_(2’
|2
£
“S00

Did you bubble in your name, exam version, and nctwork 1D?

Check to make sure vou have bubbled in alf vour answers,

16 ol 16 pages
20 problems



Pl sies 102

Fall 2011

REY

Fafl 2011

i 1D —

4

A

~4

o]

10, ¢
.

2

HER

i,

6.
7.
18.
19
2.

17 of H6 pages
20 probiems



Pl sies 102 Exam 2

The next three questions pevtain to the following situation.

A carl consisting of 3 square turns connected 0 series rotates ai 00 revolutions per seeond (i =
260 radians per second)  The magnetic Geld B3=2 T pomits i the —2 direction (mto the page),
W= 00 the plane of the coil Ties in the s=v plane: @ side ot the coil is labeled with poinis a7 and
b The retation is around the s axis. such that at =0 side a-b is moving out of the page. The
loops have an area of 10O ¢nv and no resistanee of their o, A 10 €2 resistor is connected
across the coils as shown,

Y
7 @ - X

|

x 4 X X I X X X X

a

l

X X X { X X X

i B=2T

" X X i X X X
b |

¥ W ¥ H X X X
i
|
1
|
|
!
R=101€ 1
l

Direction of rotation
I, At1=10
the current flows clockwise. directy from point b 1o point a. :(g_ z o5 (-ut)
b, the current fows counterclochwise, direetls from point a to point b. , S ‘k )
@lhc current is Zero. l 8\/, \"‘V\Cw

7

()

. The maximum value ol the current is

. 0A % = BA{”{)
=
b, LOO A
o280 A - 6' A (bSC\,Jt>

d. 10033 A

£
(377 A £ 2w N(Aua.)g mlod ) A
AN
2 )\
/ 5 fc cm Jof 15 pages

C. A rh 26 problems

1 -
-
—

u,r)
£ LMH(S)-; 3.13 A

\ O

=1



Physies 102 bsam 2 o 11 AP

The next question continues from the previous page.

Y
z (3] b
i
b4 X I X
X, a b X X
|
X » X | A K X
| B=2T
% ¥ X l ¥ X X
b 1
X X X X |l_x X X X
(1
{1
I
4
| I
I
]:_: [
i
|

Direction of rotation

3. Onee the cail has rotated forvard by 43"
@ the current ows clockwise. directly from point b 1o point .
b. the carrent flows counterclochwise, directly fram point a o point b.
¢, the current is zero,
‘ﬂ(k‘f- A AQ('(@GSI\:«'_ g"ow rf-ﬂ\.c\)“\mf\ . So (u ”9’:*
s 5 Yo hereasy
g .
'(’\b\y\ (vdo paje )
Q\ 5 o
Wi \f_ﬂ page (ome s _Curm/\\
G CAVEXWISE ok -

4 of 13 pages
26 problems



Physics 102, Faam 2 Spring 2042

The next two guestions pertaiu to the following situation,

\ triangufar conducting coil lies ina unitorm magaetic fickd B which varies in thme as shown in
the graph of B (Tesla)y versus tiseconds). Attt = I <o the magnetie fickd is pointing out of the
page. The triangle has height h = V3 m. and the hase of the triangte has length 1= 2 m.

A
B(Teslta)

2

1 _ ‘”Hy‘\
Wcc gng X
_SO (ST o %

SR

S 2

o A 3 . v 0 1 2 3 c{éu:\mecwmwlse

- Whieh statentent best represents the situaiion att = 3.5 57

3

J0 The magnitde ot the imduced emilTis 3.3 Vooand the currem iows clockwise,
e Phere s no imduced emt. :
s
3.5V

i The magnitude of the induced emtis 4.5 Voand the current Hows connterclochwise. | p ) ﬁﬂs)
. . . - . -—
1o e magnitude of the indoced embis 4.5 ¥ amd the curremns flows clockwise —_—fz =
Y The magnitude of the induced emtis 3.5 Voand the current Nows counterclochwise. Nt i f
RN

0 The cwrrent s sero

@ betweent = tsand t = 25, T = Cu"ﬁf‘ a\Jt
booatt =035y, - '
\_ whar ¥ = cMﬁ:}C

f i

uh

goatt=3

Sof 13 pages

20 problems



Spring 2012

Physies 102, bvam 2
I3 Fhere is a transtormer inside the charger for your cell phone that is designed o reduce the
voltage supplicd by an electrical outlet. he outlets tieyour house provide Vi, =120V AC

SV AC power. How many surns should there be on the

poaer. while the charger requires
seme 00 primar wirns?

secondary side ol the charger it th

V=120 V

rms
I

V=0 V

max—

U

100 turns

( a)2
b, 6 N
A L -

c. 1700
r-

oy, U@.\-La&a,q

P00l 15 pages
20 problems



Physies 02, Exam 2 Soring 2012

NEEY

Spring 2002 - [Exam 2

'ed 1 —

._
]

16 0f 15 pages
26 problems



Phvsics 102 Fosanm 2 Fafl 2012

The following situation pertains to the next teo guestions:

A transtorner s used i the power supph 1or your computer 1o reduee the voltage supplicd by a
wall outket. 20V ps frome the outlet s applied o the primany side of the translormer, and
20V s s produced on the secondary side o the transformer. which s comected 10 the
computer.  Fhe mos current on the primany side of the tamslormer i 0.5 A,

“rins

I'T'IJ—O SA l

=120 V £rms=20 V

30 What s the rs current on the secondary side ol the transtormer?

- f
g 0.08 A This v¢ o th‘ﬁ\{m Ol e, WR ff\\c\h\'\” fﬁ&%
l‘n 3 A

\630.5 A Fel\ ostk v c\c\gc
Vs 1oV 5 Qs b

o & - 4 ' o ) | . 7
Yower V5 quxsiruec{ So IV ¢ { \2 3(M«“>
- How much power is supplicd o the computer?

O()()\\ —Pq.--rv r)_ov SA-: QO\,\J

b 1OW
¢, 1.OW

4ot pages
27 problems



Plhnsies 102 [sam 2 Fadl 2012

The following situation pertaing to the next three questions:

A generator coil rotates in s uniform and constast magnetic field of B =171, The coil ha 10
windings and the rotaton requeney of the coll w the tiekl s £ = 0.3 Flz (o = 5. 14 radis). Tre
resistance of all condietors i the cireuit can be neglecied. However, thefes an external load
resistor of R =10 O The coll rotates around the v-asis in the direetion indicated by the circufar
arvowe i the drawing below. Lookmng along the s-axis. lhc mmlinn i\' wunlutlwcl\'\\ e (he.. the
side ab of'the wae !nnp moves e the page). the aret

e e
y
Z X
X X N o X ax X X X
d
I
XX X : X X X
|
X X X ] X X X
b il B=1T
X X X i XX x
1
I
|
i
| |
|
R=10Q )

Direction of rotation, w = 3.14 rad/s

[0, Forthe sitation shown above, which statlement is correct concerning the maanitude of the

ctrrent’? l
(o m:}Y oj?
- The current reaches its muaximum value i the clochwise direction. Mape F']\A«Y
The current reaches s mmaxnnum vahie m the couter-clochw ise direction, e

@lhc current is scro.

[ When the generator coll has rotated by an ang
shown above, what i the direction of the currem?!

a flom o b QLUY 1“@\_3 "'(\-ﬂ Q \ C’QC“@G
@ fiom hlm a P iﬁ_ §- \__—\“é' d\@,)fo r‘d)fd‘\J\r\

o D Uercsdk Qovs Yo Tacrance Unek Ly 14
l 7ot 4 pages
:) C OC—&,VO“Q 27 probiens

L of 3 degrees starting from the situation
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Phvsics 102, lixam 2 Fall 2012

[NEAY
Exam 2 lall 2052

A= e 13—
=

Hl

.
6. b
7. ¢
&b
9.
0. ¢
li. b
2. q
13, ¢
[4. h
(5 b
|6, ¢
[7. -1
18 ¢
9. b
e
200 b
22 ¢
230D
2 ¢
25 b
26, Q
24

[5of 14 pages
27 problems
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Phs sies 102 Fxam S Sprine 2013

The next nwo questions pertain to the following sitaation:

Adoop ot wire ol arca f = 0.01 m” lies i the plane of the page. The loop sits ina
spatially uniform magnetic ficld 8. which varies with time according to the graph below.
A positive A eorresponds to a magnetic Neld pointing out of the page: a negative B
carrespontds to o field pointing into the page.

B(t) {T)

A
+0.2 1

UNE SRR

024 ---- - -

8 Arahich of the following times is the idueed emle in the loop maximum?

i, 1=2s
@n’ 3
Cor=7s

9. Caleutate the magmitude of the induced emil e in the loop at time 7 = 8+
g9, o=umvV \élt b ‘3_; _ @F@&. QB
>

o= homv

@ =067 mvV ‘f‘E

. (001 Y (0
1
4‘\0;3 \/

6 of O puges
(26 problems)
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Phy sics 102 Faam 2 Spring 2013

U7 Acrectangular foop ina gencrator retates al o constant avgular frequeres in uniferm
magnetic Ticld as shown below. The bottom panel shows cross sectional views of the loop
at three different moments. n which configuration is the magnitude of the inducad

curient largest?

normal

d g . d 4
n A 5
V4
- d
. — e Fomtir i ke T k=1 |
! ry
| ,'/ ) .
i i '
a e C 5
| 11 I

b Qe Onanies Lagles o momed
ol W Qe vy O

[0 of 10 pages
(26 problems)



Physicy (02 Esam 2 Spring 2013

The next hea questivns pertain to e following siteation:

Consider a civeuit consisting of Aver vertical metal bars labeled and 2 that shide on two
horizontal conducting rails. as shown in the fizure, There is a unitorm magnetic held £
directed into the page ever the right half of the circuit only. (1 here is NO magnetic ticid

over the left halt)

Initialiy both sliding bars | and 2 are at rest.

B=0 B>0

21, The stiding bar 2 s now moved 1o the right. [n what diveetion does the current (Tow
around the cireuit’

a. clockwise
D) canterclockw ise
<. there s no current

220 Now sliding buar 2 ks at rest and shBding bar | is moved o the lefis o what divection

does the current tfow around the circuit?

a. clockwise nO S—ac(@ on (_&\QﬂQS W;F %._,,O l (,\Jd«"

b, counterclockw ise —_—

C)llmuanounlml (-C(ﬂr\D\ \oa,r 1 "5 o T@S)r)

[2 0f 12 pages
(20 problems)
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Physics 102 Faain 2 Sprine 2013

KLEY
Lxam 2 = Spring 2013

16, ¢

I8 a

() —
=
- =

T N

'
-
=

[IR¥ I RN O R SN B I g}
[ 13

>
=

5o 13 pages
{20 problems)



The next o questions pertain to the situation described helow,

Avcotb ol wire wrns between the poles o permanent magnet as shown in the diageam, Fhe coil has N 34
wrns of wire, The magnet produces a constant Geid of magnitude B 0,779 77 Lhe coil has a cross-sectional

wrea I -0 o4 m“‘.

S¥ihe coil is deiven atan angular frequeney o LN rad v What is the peak eanf) e this gencerator can
- woatd N "
produce: Just write down correct formula, then show inserted nunbers
and final result.

4, =02 E . M A’\S

b owmi- b -

CL) m..:'r’ o = Q\‘(ﬁ;')(3\)()(0.0‘\\\)60-\\%)
dye (o St

C.oo o 01601 ~ o.b+%¥

OY I the coil is driven o the counter-clochw ise direction. in what direction is the induced tiekd at the instant
shown? Explain using flux and Lens' law.

@ The fr’t'(f”t'('(fﬁ(‘/(/ is directed ioward the ."(_',f!.
bo The induced field is direcied tovward the rivli,
oo There ds i induced fickd,

fluy 4o He S de"f._@“‘-’“% dug_ Yo raj(qytqm)
>0 ‘\M Q"\Y’ Wi\ W by o Ak lefff
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Spring 2014
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